
1) 200 ÷ 20

Answer: ____________

2) What would you multiply by to 
decrease an amount by 76%?

Answer: ____________

3) Write 5 x 104 as a normal number.

Answer: ____________

4) 484 ÷ 22

Answer: ____________

5) 484 ÷ 22

Answer: ____________

6) Convert the following mixed number 
513/8 into an improper fraction.

Answer: ____________

7) 253 - (-549)

Answer: ____________

8) 801.2 + 230.6

Answer: ____________

9) Increase 40 by 86%

Answer: ____________

10) Increase 40 by 86%

Answer: ____________

11) 56/17 ÷ 139/18

Answer: ____________

12) Find the mean of the following set of data:

33, 0, 0.2, 0.3, 31, 5, 40, 26

Answer: ____________

13) Round 7.829324208 to 6 significant 
figures.

Answer: ____________

14) 202 x 15 - 3

Answer: ____________

15) 202 x 15 - 3

Answer: ____________
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16) Write 2100000000 in standard form.

Answer: ____________

17) 6 + 3 + 3 - 2

Answer: ____________

18)

'Name the type of angle.

Answer: ____________

19)

'Name the type of angle.

Answer: ____________

20) (-1092) ÷ 28

Answer: ____________

Total: ___ / 20
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Answers:

1) 10 2) 0.24 3) 50000 4) 22 5) 22 6) 53/8 7) 802

8) 1031.8 9) 74.4 10) 74.4 11) 182/459 12) 16.94 13) 7.82932 14)

15) 16) 2.1 x 109 17) 10 18) Obtuse 19) Obtuse 20) -39
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